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1. Afossilis a remnant
or trace of the past.
What is a fossil from
the Big Bang?

Fossil from Burgess Shale

Helium Production in BB—4 Nov
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il from Big Bang

» A fossil is a remnant
or trace of the past.
What is a fossil from
the Big Bang?

— There are 7 protons
for every neutron

— The surface of the sun
is 25% He and 75% H

* What does that fossil
tell about the BB?

Foss

Fossil from Burgess Shale

“Collecting the Fossil”
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Ned Wright's Cosmology Notes




10s 100s 1000s

How 4He is made

fraction

4. When U was 10s old,
what were the two mostg
abundant constituents? g
Same for 10,000s. g-10

-5

5. When U was 10,000s -

old, how much D (2H) 0

was there for every ton

(1000kg) of matter? .
¢ Need to understand why

elements changed

during the first 3

minutes.
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Model of how amount of
element changes with
time.

How 4He is made

What changed during the

first hour?

— At1s, neutrons & protons;
minute amount of 2H (D).

— Ratio n/p dropping slowly

— 2H, as well as *H and 3He
increases staring at 30s.

— “He increases

— At200s, 2H, 3H, and 3He
drops. “He stays high.

— At 10,000s (3hr), U is primarily
H & “He with trace amounts
of others.
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Need answers

— Why does n/p drop even
before 10s? Neutrons are not
being incorporated in 2H.

— What is starting up at 30s?
Why does it start then?




